Y \?@% *



BEXEEIXEHE ||+H
BHEI+-E8 m#

w®E D +t@§ﬁ%m

AR+ L oEENHRV00 | B

LHEHERNE LG

-

REHK (%118

***%&*%&.%*4%**%*&&4%

whw

REEEERI ZH%

D 3t i i e S S S S S S S ,w

m & AN A

(EHENR D

# M=

RN CIIK)



B JF

AR 4% P B b B 4 TE A AL B 2 B LR LS
BB TR 55 0 e B4R 2 5 5 R S 6 5 R FE O 1 i
2 ok £5 40 B4 B %5 A 2 P00 1k B R X 19 B BT B g A
st g b % b B RE SE I R L L 68 L S d— A
LR B L B R S B TR R T R
5% B BRI E 5 R OR MR R U R R 2 MR Ok RS
3 T R R M R TR 2 N B
B 1 R R A 3 n % W) 2 R A M 2 O GE 0 AR
13 U 5 BB R B 5T B HL A VR ) 2 TR AL b
S T BF 2% 16 T L B0 A Ak B85 R T ST ) A 90 6
W Kevin) S E“REHRAFSHWARER
2 B e £ dm 25 e R B B R HE DL o R 2 i 2 dm
k05 1% T LBk Z HbRH RS Ak 2 W B E B T AR A
o BB — A P AN BB 2 W H UL E A
B B TR 2 b B SPIAK A B Ak B K L IR B R
TR U R SN A B B N T B 2 5 ik
B 2B R R — T B R e
2 I S IR 6 B A G B AL A BUB AL A T =
Jo BSR4 1A B4R 2 30 DS T B 2 5 R SR K B
B4 T BLEE W AF T, B0 AR B 253 E 4 — R K Z %0
TE 5 A 2 JGE DAL B S AT T E ELE A5 B 0 208 9T Ok &
B A G S 1k A A B L At S KL AR A
Wy B O K 2 4 T RO R B AE B — U i
il A B % b S [ B 2 ILED e Ok B U PY BB E M 4 A



2 fo & gh 3% BB B qb BL K R R kR
BN E BB LW Z W AT I 588 B N 2
BzA Dz

MERE =40 BEEFSHER




REHEREEKEFTEN
L LB EME

B X

F—=R EHBREE e e 1
o= ERIRRBIEE 34
=% 9FE EBEF¥FE EBEFE =EBEHE-- 71
FmE oFX TFRARFEAZZHE- &9
FEIE BN BF HAE Sn ERE

VER Z B Feoveeemorssrmsemmrsironns T a— 120
AR SEBIBEREE e 144

EEEE HEER i s e s 180



WEHEEER LB SRR

Lt EBEHERBE

5—X DEARRE

1. & {eskHgO, M Ap &l KNO,, § A&l KCI0, % a8k
BEREABEAEETRUE S BRZE=SWE —F
% 2 0. K £ 1.50 55,0.16 55,0.15 52,55 47 4y % BR(D) 18 R
Z By

W) RRELRBBRIARSE4—-STSEAUH
B3P B SR T R R

Hg0(216.6)—Hg/200.6)+ 0(16)
KNO,(101.1)5KNO,(85.1)4-0(16)
K('10,(122.56)-> K (1(74.56)+ 30(48)
5 b 5% 216.6 3 th fE 7 M % R 16 45,
B 21 1011 45 oh i o ik 4 5 16 43,
AR ST 12256 £ th BE U B 45 T 48 4,

5 DUE R 20 A 4 1L R A g o X 100=T7.56%6,

78 B & op 45‘15%1—x 100=15.829,% @@p 45 1*2421%5?" 100

=3916% HER=HEFRLBERAEFE TR BMHELE
RS EdR LA ENRATHEERREXRS,
& L ok & ¥ &R &
2 AFATHERXIKRSAWEZAE FHBR:

Mn,O,, KBr, FeSO, A



3 tBRAAMABRLCLEFER B
Zﬁh%ﬁ@54-93X7)+]6X;=228_79’

3479
HKEFMBEB  Mo= 0 ) x100=720205,
64
O= gyt o X 100=27.989%

EZRET R LBy HFESMD2 & KBrz 4 F
B £539.1479.92=119.02,

- 39.1 .
HaoHEBEE K= 555 x100=3285%,
_ 7992 .

Br= g g X100=67.15%,

Fe2 RFBEBOUS IR FREBI206,0ZFTTFER
16 3% FeSO, ¥ &4 F & £3 1561.9,

HATHRS Fe=4;’f"1§} x 100=386.079,

. 32.06
s=-1 i.g_xloo =21.109,

6
15%9‘
3. AR ER Bl Ce(SO,),, 7 & b B PCl, X F 1L g NH Cl
EmZzaETHERE %M
(B8] Bimesl 2 & F & £ 140.25 (Ce)+2x 32.06 (8)
+8x16 (0)=3337, % FHEZH T ESH

0= x100=42.8395_

140.25
Co= o0 22 x 100=42199%,
64.12
S=-‘3,;3237_ b 4 100=19.29%,



% — - B M oM OR M@

1og
O ~g3-;'?37 % 100=58.5295

FAA 2 5 T 4 15 31,04 (P)+5x35.46(C1)=208.34, %
"ri‘ A3

TS Wy
3104 _ oo
P= S5 x100=14.899,
Cl:%{%"ﬁ%xl(ﬂ):s&ll%.
FAVIIS =

KA 2 4 T RS 14.008(N) +4 x 1.008 (H)+35.46 (C1)

< m
=55, KA T RLZA A AR

Nzi‘};%x 100 =26.1895,
Do

H= J{)gf;_ x 100 =7.53 95,
o 3546 B
Cl=-"20 0 X 100 =66.2995,

B %00 11w 1) ok A B AR B L AT

() EMRBALBMBAIMBELEZER

9.52—1.1=1.42 &,

Tl 252 : 1.42=100: x, ,-,x=~%%=56.35%,

B E Ak 4 1 2 A B 56359,

5. AT B AS B — LB Z K RS T B

HE § 22 Toeermereeerseenseereinssenns 6.4

iﬂ- 4 + {I}} [ [IRTITTSIPIRRPE 7.52 3'?:,

HEG T+ &z Eeere T80
ARG\ 2\ S



4 (A - R D AR I
(] =z \mHT52—640=1.12735,
8 IR > 43 7-86—7.62=0.33 3,
$E ) 112:083=100:x, .° x= °3

113 =99.46,
EP %0 &) B I 2Z HAG IR B\ 42 2940,

6. GRS BRBL MR R =R 2 i 4Lk

() EEmeCH,COOHZ &+ ¥ B 15 2x1242x16+4x1
=60, #%

‘) +
B ooX100=40%6; G o x 100=53.3395"

6

G g X 100=6679.

B C,H,0, 2 4 F B 5 2x1242x 1416 x 4=90,%

B oo x 100=26.6796; & o x 100=T1.1195;
i o X 100=22295,
12 32

W:Ex100=26.08%; & i X 100 =69.5695;

X 100=4362%,
7. R () KNO, (b) Nu,S0, Z I 7 i 47 %,
OR] () KNO, 2 4 F § £5 39.14 14.008 4+ 43 = 101.108,
3910
~101.108
o n_ 1400.8
> N=101108

101.108 : 39.100=100 : K, ", K =38.679%,

101.108 : 14.008 =100 s N =13.859%,



$ - = PR R @A 5

. 4800
» " 0="1o1.108
(b)Na,S0, = 4 T B 5 4643206448 =126.06,

101.108 : 48.00 =100 : O =47489

4600
9 . J . \§ 3 = ;
126.06 : 46.00=100 3 Na, ,*, Na=- 1" =36.4995,
, aonr10n . . e 8206 o
126.06 : 32:06=100 : 8, ., S=- 70 =2543%
' 4800
Y ~ = . ) o =
126.06 : 48.00=100 : 0, ., O=— ' =38.08%

8 R #& &k #£ Na,B,0,-10H,00 B fi 2 & 4 .
(A2 N32B401'10H20 Al ol -
464+4x10.94+7x16+10x% 18.016=2381.76,
7 FE 3 h 45 180.16, 3% Ik G
180.16 x 100

381.76 : 180.16=100: x, XSl

8 & #£ Na,B,0,-10H,Oth Fi {f 2 & & &,
9 M—ARZADEEETFTO-EFRZMEHL
&R FHE TR

() kRZHF &8 18016, I h & 45 £ 16,8 13 1L )

C1n 100 ..« . 1600
18.016 : 16=100 ¢ x, .*, x=—ro'c =88.81,

Bp 100 3¢ Z K h, 3 44 3381 %,

BERE 2 5 T 415 34016, 30 1p & 4 15 32,8 13 1k B

2000
34016 :32=100 : x, .*, x=-3200_ 94,07,

° 31.016
Bl 100 3 2 38 & AL P, 3 4 9407
10. ABRPAPSIFEHARAP=EBIZERSI &
BEZH7 %

=47.199,



s REHEMER LSS ER LR
(R] RB2zBERBMUHEFLRT86%,H 2 H%ERIS,
HABB2100%,88 2 B EHBLIILABTEB 0.94%, ¥ im
BRAPREAEEEZHR
(14 x78.06) : (16x21) : (19.9%0.94),
14 x 78.06 x 100

St — o T =T75.5%;
e = 4% 7806+ 16x 21 F199%091 — >0%;
16 %21 x 100
= = 2 s
4 14x 7806+ 16x21+19.9%x0.94 Z s}
19.9 % 0.94 x 100
. ...... . = 1.3
& 14x7806+16%x21+19.9x0.94 1.5%.

11. RILHEZHS 30129 5,35 1 ALK | 16.2134
EEABEEHELTER 3035 LM EERA DS K
R ZHTERM

(] ABIEBGEBRKRAERZES

30.34\)5—-30.1293=().2112,
HMmABERERTZAPZATER
15.2134 : 0.2112=100 : x, ., x=1.39%.
12 TEMNRIMALEBEZTLSREZA
O#)] WAz T+ES
23 414,008 +48=85.008,
Hbhpigz2AES

14.0N8 % 100
85008 16479,

WBRAZoTFER
39.1+14.008 + 48 =11.108,
KPP EZAER

14.008 x 100

—OTI0E = 13.859



S "R R EE L

WM R R RO TS ERES £,
15, 100 HzHREREEFH 2 ML ESE T
CRB) 5 6 22 50 i 4 21009 %5 Rk 100 F+ 2 &4 2
KABATT I ARLES 12507 @A A2 EES
21 x 1.25607=26.2647 .
U EERALRZELE LB mT 2 ®IEE A2
R & 4K
B B 8 167.299 3%
m@wﬁ&%ZEﬁ{ﬁﬁﬁmmmﬁ
) ¥ Eg 8 213.179 35
QFEAE SR {E@ﬁﬁmgﬁ
(] SBARTER %S 167209 3% —157.118 14
BN ERALAZER LA S 2 E R 2
£5 224.632 % —213.179 3 —11.453 31,60 iF 4 2 7k = H;11.453
% —10.181 % =1.272 3,80 & 2 T8 4 T &
11.453 : 10.181=100 : x,
1018.1

. ( ----------------- S

So X=qp sy —089% A.
11.453 : 1.272=100 : x,

S NETE PP @

11453
15, RERKBRZLEER THLK,
(] BRCH, 2H5TESB

12.005+4.032=16.037,

i 16.037 : 12.005=100 : x,

] 12005 .
.o X= 16037- O %0 -..............-..ﬁ. .



8 flo BB SE R AR 4 B R R R

N P e e o e

A e e e e e e e e s e

16.037 ¢ 4.032=100 : x,

. 403.2 I

om0 = 95
<o X G037 T A

16, MRz HMEAKXS CH, O, kI ol %
i iR AKX CH, O, Bt FERS

6x12.0054+10) x 1.008 L 5 x 16 ="72.03+ 10.08+ bO=162‘11,
% 1

Q\

162.11 : 72.03=100 : x,

) R Y P S
e XS qggqp T .

162.11 3 10.08 =100 = x,
1008

* X = Vw:(‘,l— Oy s miiasssne s =
S % =
162.11 : 80.00=100 ¢ x,
%000 . .
* = —- - adep .. sasdeE
e o ‘\ 1('[)11 49 9/0 ‘r .

17, FM 2 il W DIt h G2 Az | &
R 2 LS L I AR S A0 2 W R SN S B T ES!
Ol s
N4150+H,0—)2N;10H
62 5 25X 40.008 54

m 80.016 : 62=100 : x,
1 (“) 7
Ml B 0 B K 2 9 R G2 dh A x= - =TT I,

18. 4P 1T P HEAHOZ PRI K 60ce, MR
El 40 738 ﬁ: JHiE 5% oy Zn 1 IH‘ T Ml v e 2 Y 4 & o A
O] 1 FF p 420 35 22 45 Pk &N 8 i COc.c. vh A7 o5 PE &



5 - = B ERSE R B A 9

ZEB 20x 0y =12 M H B R

CH,COOH +NaOH->CH,CO,Na+H,0
600428  40.008%

Pey 40.008 : 60.042=1.2 : x,
. __60042x12
Seor=— o8 TS

ORI B2EMXESTENS
28 x100=4.59.

19, BiBF 6 To,pr 40 35 2 ok BT B E T % 2 Bt iR

(BB wHFER:

S0, +H,0-H,S0,
BORME T RERZERS
5% 98
—8r=6.125 I,
EOZAPIABMBEZIRES
6.125 x 100 e,
—-7{5—=1o.6/7_

20 FALGORMARTHRURNIFERTERABZ
BB 1704 BABRAEF TN LA BBLRE L fF3
Z 7K W W BET 4 T % Z &k

] o % B
2NH, Cl+Ca(0H),~CaCl, +2NH,0H
53.46 X242 » 2X22.47}
" 106.92 : 44.8=50 : x,
. 448x50

s x= 28X _otoag,



10 LBRBEMBEREBSFEZR LR

EHEERBREFIT L ERBABEES
21.04 x 760 x 290
Tsaxgry o ondl Tk
RELBERABHERBERIFRZZAPNEAZES
1000421.04 x 0.771=1016.22 &,

manpEs ooX1 0 1509

2l MBSEREIABMAERNEZHBERAEZ
HEEERAD B k2

(A BB & (NH),S0, 24 F B £28 +8+32 + 64
=132, 3t i N = £ £ 28,

RAHMAENNO, 2 5 FES 23+14+48=85, 3t g N 2
B A 14

M HAEBEZHER

28 14

- 132 85

22. WSS BESBILZBB58H X EH L Wik
62 2 > 1 X 4

] SESTRNBIASLBRE HH{HEDhYGZHE
BxmABZERS 6O—) B EEEETEALBY 0k
BEALGS0, X4 FES 119+2x16=151, & 8] {£ £ —
&Ik &s PO, 45 F B A 207+16=223
151 223

B 85 : 66,

24 X 119 TGO X o5 =88, . x=2158 35,
BESEIZBRSH
2158100 _ 4516,

5



$£ - n B R MR ME 1

~~

RESBEDPZIRSB
2.842 x 100

=56.84%

23 MESRER 1 35X &Y BRI EE 20° ME o 70 %% Xk B,
B4Z Veo “EAREUERODHSHEIRBH
THSEHET

U] MPr&4s ee =SB E =8 KR,
BRENS

70 273

i e . =12.87¢.
76 % 73490 — 128Tec

15 x
BERRX:
2PbCO,-Pb (OH),+6HNO, -2C€0,+3Pb(NO,), +4H,0
T75% 2% 22.47}
BB PHTHEIBBRBZIOSES
775 x12.87 100

—_448()0 T X 7771——-=22-3%.

21 MR HRMR 1559 5.0 1 i ) 2 D B ML R R A K 1%
00 % £ 200 ¢ o 4 IR Bk # 25 0., Dl 2 L KR R
WL AN 2ec R T AN LG EFAMBLE 5 &
2%

R R 1529 %5 SUR B N0 1 JTL2 R R TE O 40 2R B
250c.c. %, A 25c.c, QI3 th T FFFe z T £ 0.1529 &
1o BE Z T 4% B 6 272 o B AT KMO, 2 B B

3.161 x 27.2
= =2 =00
1000 e A

#wh R



A3 tanamEaRtLtEsSyaeX R

10FeS0, +8H,S0, +2KMn0,
10%151.84 w3 2% 138.03 wi

=5F¢,(80,),+K,S0, +2MnSO0, +8H,0

BOBO R FE MM ERERERPZEEAZES
T
BMUEERTBFZAMHZATES
(0.1529—0.15194) x 100
0.1529 ,
25 WRCHLB GTEE 1 3un oK AE BCUE W A%, 0L T R 6RO A
DU RAT I OB A 24982 mm Al i h TR Z B E T
i H e
AgNO,+NaCl>NaNO, +AgCl
3-1-33.46¢& 107.584-35.46 5%
 BRE-—ERRZES
35.46 x 2.438:
546 24552 _ 06032 3,
HakBREPSHEZER 2%,
26. MBS N ERBARKE B 20cc PG HBHE
TP 0.976 35,18 vt v8 @ P BERR 2 A 3 A A
(R ®mHEFBRRA:
BaCl,+H,50,-5>BaS0, +2HCI]
98w 233.37%
B e HBDHRL S
2"22:?;7‘i=0.4098 =,

EahBEPHBRZATERS

=O.6‘}é.



